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 Lawof OnePrice
Assume transport costs and dstributional costs are zero. LOP states that for any good |,

$p() =Ep()* .

» Purchasing Power Parity (PPP)
1) Absolute PPP
$P=EP*
Empirics say the ébsolute PPPdoes not hold.
(i)  Relative PPP
m=e+ 1
The relative PPPcan hold even if the ebsolute PPPdoes not hold.

e Exchange Rates and Terms-of-Trade
Asaume that good prices are denominated in producers currency. Terms-of-tradeis
defined as the relative price of exports in terms of imports.
ToT = Pex/ E Pim*
- Appredation (depredation) improves (worsen) terms-of-trade.

* Real Exchange Rates
0 Relative Exchange Rate
Relative pricelevel of one auntry, evaluated using a basket of goods and services
of another country. (Bilateral rate)
q=P/EP*
- g = 1if the dsolute PPPholds.

(i) Real Effective Exchange Rate
Relative pricelevel of one muntry, evaluated using baskets of goods and services
of several mgjor trading partners. (Multilatera rate)

* Interest Parity
Asaume that “risk” and “liquidity” feaures aaossasts are identicd. In other words, all
asEts are perfed substitutes. Then what determines demand for al asts is only their
expeded rate of returns.

0 Uncovered Interest Parity (UIP)

i —i* =rate of depredation of home airrency
(i)  Covered Interest Parity (CIP)

i —i* = forward dscount on home aurrency



Example: Japanese Y en and Canadian Dollar

Today (as of 3pm) 3-month Japanese government bond yield is 0.004 percent.
Today 3-month Canadian government bond yield is2.811 percent.

Today Canadian$/US$ spot rate is 1.5054

Today Yen/USS$ spot rate is 118355Q

Suppose 3-month Canadian®/US$ forward rate is 1.2032

Calculate 3-month Y en/US$ forward rate.

- From CIP, 3-month forward discount for Japanese Yen
=0.004-2811
=-2.807 percent
- Compute the aossrate for Y en and Canadian$.
Today Y en/Canadian$ spot rate
(Yen/US$)/(Canadian®/US$)
11835501.5054
= 76.6203
-> By the definition of “forward discount,” -2.807 percent discount implies that,
3month Y en/Canadian$ forward rate
= (1-0.02807% (Y en/Canadian$ spot rate)
= (1-0.02807 76.6203
=76.4134
- 3-month Yen/US$ forward rate
= (3-month Y en/Canadian$ forward rate) x
(3-month Canadian$/US$ forward rate)
=(76.4134(1.2032
=91.9406



